

### **PURCHASE PRODUCTS**







AND GET BACK







EVERY MONTH
400 CASH POINTS X

**15 MONTHS = Rs.6000/-**

OR

IF WANTED ,YOU CAN TAKE ANOTHER RS.6000/WORTH PRODUCTS IMMEDIATELY

# MAKE YOUR TEAM MATES TO PURCHASE PRODUCTS OF WORTH Rs.6000/-





LET US ASSUME, YOU HAVE 10 DIRECT MEMBERS AND YOU HAVE DEVELOPED A TEAM IN 10 LEVELS AND EACH MEMBER HAS PURCHASED PRODUCTS OF RS. 6000/-THEN AMOUNT OF INCOME WILL BE: AS SHOWN IN THE BESIDE CHART.

#### **INCOME SHARING**

1<sup>ST</sup> LEVEL RS 500/-2<sup>ND</sup> LEVEL RS 100/-3<sup>RD</sup> LEVEL RS 50/-4<sup>TH</sup> & 5<sup>TH</sup> LEVEL RS.25/-6<sup>TH</sup> & 7<sup>TH</sup> LEVEL RS. 100/-8<sup>TH</sup> & 9<sup>TH</sup> LEVEL RS.50/-10<sup>th</sup> LEVEL RS.25/-

#### **NOTE:-**

THESE ARE ALL ASSUMED FIGURES ORIGINAL INCOME DEPENDS ON YOUR TEAM PURCHASES.

LEVELS	MEMBERS	REFERRED MEMBERS	LEVEL MEMBERS	LEVEL AMOUNT	TOTAL AMOUNT PER LEVEL
1	YOU	10	10	500	5000
2	10	5	50	100	10000
3	50	5	250	50	12500
4	250	5	1250	25	31250
5	1250	3	3750	25	937500
6	3750	2	7500	100	750000
7	7500	2	15000	100	1500000
8	15000	1	15000	50	750000
9	15000	1	15000	50	750000
10	15000	1	15000	25	375000

**TOTAL INCOME RS. 51,21,250/-**

## YOU CAN CHOOSE ANY OF THE COMPANY'S PRODUCTS AND CAN PURCHASE WITH WANTED COMBINATIONS, TOTAL TO RS.6000/-

- 1. TEA PACK (2 X 250GMS PREMIUM TEA PACKS + 1 CUSTARD PAYASAM PACK = RS. 600/-)
- 2. PAIN RELIEVRES PACK (AN AYURVRDIC PRODUCT) (15PILLS + 100 GMS LEHYAM AYURVEDIC PAIN RELIEVERS PACK = RS. 600/-)
- 3. SANJEEVANI (AN AYURVRDIC PRODUCT)

  (FOR GASTIC PROBLEMS 1 X 300 ML BOTTLE = RS. 600/-)
- 4. CHICKEN PICKLE (1 x 500 GMS ANDHRA CHICKEN PICKLE PACK = RS. 600/-)
- 5. GRAINS & MILLETS (HEALTHY FOOD)
  (2 X 500 GMS GRAINS & MILLETS PACKETS = RS. 300/-)
- 6. SANITARY PADS (NEGATIVE ION SANITARY NAPKINS)
  (2 X EACH 7 PADS SANITARY NAPKIN PACKS = RS. 160/-)
- 7. VEG BIRYANI CURRY MIX (COOKED FOOD)

  ( 1 X 500 GMS VEG BIRYANI CURRY MIX PACKET = RS. 300/- )
- 8. PULIHORA PULUSU (TEMPLE STYLE PREPARED FOOD) (1 X 500 GMS PULIHORA PULUSU PACKET = RS. 300/-)

COMMIMG SOON: SHAMPOO AND CONDITIONER 500ML RS.300/SWEETS FOR DIABETIC PERSONS (MADE WITH LOW GLYCEMIC INDEX SUGARS)



